(DENG 1)

B.A./B.Com./B.Sc/B.B.M./B.B.A./B.HM. DEGREE EXAMINATION, DEC. - 2015
(Examination at the end of First Year)
PartI - ENGLISH
Paper - I : General English

Time : 03 Hours Maximum Marks : 70

D

a)

b)

Section - A (5x1=)5)
Read the following passage and answer the questions that follow :
Rules or laws are, therefore, drawn up to ensure that members of the society may live and
work together in an orderly and peaceable manner. The large the community, the more
complex and numerous will be the rules. If the rules or laws are broken, compulsion is used to
enforce obedience. Two ideas are concept of law: (1) order, in the sense of method or system,

and (2) compulsion, i.e., the enforcement or obedience to the rulers or laws bid down.

1)  List out the two ideas that underlie the concept of law.

i1)  What is the passage about?

111)  Suggest a suitable title for the passage.

iv)  What did man do in primitive times?

v)  Why rules or laws, are drawn up?

Read the following passage carefully and answer the questions that follow by choosing the
right answer. (1x4=4)
I have last my job. It was a good job, too. All I had to do was sit in the shop throughout the
day and sell saris and cholipieces: that was all we sold. They were very good saris and
cholipieces, specially woven in Mr. Ratnam’s little mill in Bangalore and only sold in

Bombay through the shop run by me.

1)  How long does the speaker suppose to sit in the shop?
1)  during the afternoon
2)  during the morning
3)  throughout the night
4)  throughout the day

i)  What is the name of the mill that was mentioned in the passage?
1)  Mr. Ratnamani
2)  Mr. Ratnam
3)  Mrs. Ratnam
4)  Ms. Ratnam



2)

b)

d)

i)  What did the speaker of the passage lose?

1) Job

2)  Name
3) Money
4)  Fame

Where does the speaker sell the saris and cholipieces?
1)  Hyderabad

2)  Delhi

3) Bangalore

4)  Bombay

What were the items sold in the shop?
1)  Pants and shirts

2)  Saris and cholipieces

3)  Saris and pants

4)  Saris and shirts

Correct the following sentences : Sx1=5)
1)  The news are true.

i1)  They are living in Tirupati since 1909.

i11) I have visited Hyderabad last month.

1v)  Godavari is a sacred river.

v) I have written a letter yesterday.

Rewrite the sentences as directed : (5x1=35)
1) I will take milk tomorrow. (Change into passive voice)

i1)  Srivani is a good woman. (Add a question tag)

ii1)  The master said “Honesty is the best policy”. (Change into Indirect speech)

iv)  Teja has been suffering with fever since Sunday. (Use appropriate preposition)

v)  Chennai is the greatest city in India. (Change into positive degree)

Change the following into direct speech 2x1=2)
1) Mother asked her son where he was going.

i1)  The servant reported that tea is ready.

Fill in the blanks with correct forms of verbs given in brackets. (5x1=Y5)

i)

Teja (meet) him tomorrow.



3)

g)

h)

i)  Venu (receive) the letter a week ago.
i) 1 (finish) my home work.
iv)  They (sell) this car for sure.
v)  She (be) in hospital for six months by the end of July.
Fill in the blanks with suitable words given at the end of the list. (5x1=Y5)
i)  The boy every morning from five to seven.
ii)  Delhi the capital city of India.
i11)  The Government is trying to reduce
1v) It rained
v) A triangle three sides.
(reopens, heavily, poverty, is, studies)
Rewrite the following set of jumbled sentences to make them into a coherent passage. 3)
1) He had no money.
i1)  He did not go in.
ii1) My grandfather’s portrait hung above the mental piece in the drawing room.
iv)  He has an efficient man of justice.
v)  Sher Singh always felt shy even in his house.
Attempt a dialogue between two friends discussing about the price rise in the state. 3)
Write a paragraph using the following hints. 3)

The role of advertisement in sales — types of ads — purpose — cost involved — a burden to the

customer or an advantage.

Write in about 100 words on any one of the following :

1))
2)
3)

Sound pollution.
Fast foods.

Influence of cinema on society.

Section - B

Write an essay on any ONE of the following :

a)
b)

c)

Describe briefly how Nehru spent his days in prison.

Narrate in brief the attempt of the people to catch the snake.

How the lovers did come together ultimately in lovers Reunion?

3

(1x5=35)



4)

)

6)

Write short notes on any three of the following : 3x3=9)
a) What is the central idea of the poem, “Sonnet to Science”.
b) Describe the express in your own words.

c) What is the effect of the piano on the Africans?
d) Summarise John Masefield’s poem ‘Laugh and be Merry’.
e)  Why it is difficult to kill a tree?

Write an essay on any one of the following : (1x5=35)

a) What is the theme of the story, the Refugees’.
b)  Narrate briefly the story of the fortune Teller.

c)  What is the theme of the story, “The Gold Watch”.
a) Explain any Two of the following : 2x2=4)

1)  In the solitute of prison I shall think of you a great dad.
i1)  No, it’s a kind of rheumatism she gets sometimes.

1) You ask, what is our aim? I can answer in one word. It is victory.
b)  Explain any one of the following : (1x4=4)

1) God made heaven and earth for joy.

i1)  Allis, if I have grace to use it so, an ever in my hard task Master’s eye.

* ¥ ¥



(DTEL 1)

B.A./B.Com./B.Sc/B.B.M./B.B.A./B.HM. DEGREE EXAMINATION, DECEMBER - 2015

(Examination at the end of First Year)
Part—1: TELUGU

Paper — I : Poetry, Novel and Grammar

Time : 03 Hours Maximum Marks : 70
o) 6o Ssrgrares orabod.
1) & (808 5oed’ 88 o8 (58 SEY B&Tgen TP oo, (6)
a) D58 |5BN SWS8 Hobcmees! CSUNT

b)

(58560 081080 RETROBN J0TTIE K88 F0
BSSTR(SSB080 ca30tSn cesoles &'ydy § afoo0 &

18 SB5g0N0 362 BHeDH TrysoBEnS dod>.

205 30863 %y Se BrSosor 3er? T
80350 T°8E Wew FoBHBH T80 BTA[ToEE o
BoSoered®? soEJY célﬁmgo{)oéooﬁ)b%o

8050 DeTE"? T8 (riFyrd d8ES pBoSAR.

2) 53808 3°0° “@” grro 08 Bodoeds, “es” grrosrod Bodoedd :\’)0662) Jard TSP oeohod.

b)

4x2=28)
‘e’goKio

DERIEEHBIOROD HEDED.
©EODO cﬁmécﬁaéeg &fboooa.

DeBAE Ghois 507008 Jod D30 ey,

2,0 DA [DrooKe DeeInE].
™ e &

‘es’grefo

BLNEEORS LIS SEBeNI.

E838os e S an.



c) NS08 B @»gbcmmmzs.
d) 0% 8o o308 D08,
3) &31808 73S° ‘@’ grro oS 2.5eR8, ‘e’ grKo oS 8 D8 TGOS SIrEERces Teapod.

2x6=12)
‘e’grro

a) #Hose rHeaderod $8390B0d.

b) 5653%56363) ey 20588 X)éééso (SR80 i)cp“’a‘.f)& DS3B030&.

‘es’greii0

2)  BEERITERSOT ERik BS6D £5°0y DFDSE HE7508.

b) 85 S Fshen abF’sDH 95,2005 Igeard) Boyod.

4) 53808 7IS° ‘@’ grro od a85m8, ‘e’ grro od 2.8med8 TGOES DI GeIeen oeaHod.

2% 6=12)
‘e’ geKo
a) 838 Rapos™d wodTrdaD Frad DIBLBoB0S.
b)  83\8NEEe FsabmR), 3BoSod.
‘e’geKo
a)  “send” egrdon S5HJ #0e°d) 380308,
b)  ‘Kiesn’ oo OB0LS OB eV BS0d.
5) &3 (808 3°06° BoBoB8 Ssrrgraren orobod. 2x6=12)

a)  “seords sghen” & @) SE38 JE e $68d0B0s.
b) “serd8 Sghen” &' &8E 885, SWoBod.
C)  e3080°F) Mo :)gf:\obo&.

d)  “serds Sghen” 3306°) s dBG0R 36800S0d.



6) & 808 TIS° BB I&BD $oB SoToen T aDos. (5x2=10)

a)  FReRSn b)  58%8to
C) ahyB d) E&Es0
e) rossosooren ) St
g) DDyeGE0 h) 9%
i) =moedoty j) o

7) %1808 3" B0 T TSGR0 TN, T2 BIH Todren BoS0s. 5x2=10)
a)  QAESS b) sEoOB
C) Wé.)é.).)éi)q) d) BHBIH
€)  JosRPBIE f) $83goro0
g 98> h) STEsEso
1) B BB Eden J)  desgedogid



(DHIN 1(NR))
B.A/B.Com./B.Sc./B.BM./ B.B.A/B.HM. DEGREE EXAMINATION, DECEMBER - 2015

(Examination at the end of First Year)
Part -1 : HINDI

Paper - I : General Hindi
Time : 3 Hours Maximum Marks : 70

SECTION - A
1) TR @9 < Ted wfga =ame i | [3x3=9]
1) % Il W HEUET 3R 3Tk GeAUTIr i el ST TSR TauTd 81 TR § |

¥) o g fuar °§ 3 1 @ 2 T I, Teee i Hiet, I UTfEes S 3T 3! s wewh off Al
B |

%) hifcTe™ TR ayfd 1 9qU -J<T WA 9% &, 98 fohell T¢eT ol ITUTIhRT &1 & |

g) 39 W@ Bl 3R UgHH aTsl JehlRh &1 af THS AT reA-greh ohi feAT 3R g hl LRI
gt % 19 | g%d W@ TT@HT =1&dT 7, 39 A o (1Y HeAhR § &0 a8

SECTION - B

2) Tt v Ut w1 ww fomwaret @fga fefeaw | [10]
31) wHia 7R Hfaa
¥) ofafy

3)  Tortll U U8 o1 T femivareti wfga fafau | [10]
37) R \IfEe 1 Tehdl
q) s @ R A

4) Tt wes sl @ g fomiwaret afga fafaw | [10]
) B H I
§) g

5 e i gleAl # T M M 1 fEe <d ge i @l o faRa | [10]

YT



6)

7)

8)

ST IS e hT TN o 7T fohelt eaeh feshar = A o fatfw |

for=gt 31 9ot =1 STaTe 28 Uhwat § fafau |
37) myferet &1 wfa femor fafiaw |

&) SrEATY 6 6 1 =i e A |
%) US HEH! I 39T - B

T) IHA FHETAT HEH I ILI-HAT

Te w9 forga e 2 |

) gH gl gEdsh el (I i)

) 3HH1 uld 379 el T (form et fetfaw)
%) foramer § STer 9 W1 R (I Sgae fafaw)

T) # o1 @ € (area weer forfan)

d) Emergency (39 &g bl e fe=<i o 1%11:\@?)
F) wefen (3 weg w1 s # fafan)

Torgt o1 wreat w1 319l fo=dl # for@et are o ot il |
1) Y Ui T
§) it 31 &G B
%) H g W @
T  HUCH UG H AW
%) Iwcitam
363638

[2 X3 =06]

[10 x 1 =10]

[2 x 2 = 5]



(DSAN1) (NR)

B.A./B.Com./B.Sc./B.B.M./B.B.A./B.H.M. DEGREE EXAMINATION, DEC. - 2015

(Examination at the end of First Year)
Part — I : SANSKRIT

Paper - I : Poetry, Grammar and Translation

Time : 3 Hours Maximum Marks: 80

1)

2)

3)

b)

b)

b)

Answer the following [3 x10=30]

Explain the state of the people in the rule of Dasaratha’s in 300 words.
IS T ST e fergupa ?
OR/3rgan

Explain in not more than 300 words the characteristics of learned man

according to Viduraniti.

feorgehet wfernfeadican afvsaeemonty 300 fidy wey fraual

Describe the criticism of siva by the celibate to turn Parvati’s mind
Sfed : R &y [ ?
OR/3an

Explain the facour done to the brahmin by Rajavahana.

M N o o
TSATEAhd Tgalehid T |

Write the story of “mrutoggivana”.

qarssiiad AEaTeH foed|
OR/3FaT
Write the story of =qL:3=r: |

"I IR - i e forea|



4) Answer any four from the following with reference to context.

5)

TedTN - = forEq |

i) gaqen fg T : w9 |

ii) e geieRvEs! |
iii)  AemETofiE S|
iv) T gfe femfea =
v) I Eq gHeneHn|
vi) AR farerd|
vii) Eehifdar geafa st
viii) T A ghasher! S@Tfi|
Translate any two into English or Telugu.
sHhgd ST TR 91 e |
i) HERAfd FeanH gas fafafehad|
o U et & gt sy
ii)  3TTensTe THREfedfae grfHerm
IOt AN ¥ o 9fvga Ied|
iii) 3=yt T fid g =foemiaem|

Tpa T g aen Affaes o)

iv) emued ¥+ WEN aga|
T Tad e gy

[4x4=16]

[2 % 3=6]



6)

b)

Write the forms of any three in the other numbers of the given persons. [3 x 2 = 6]

ATV geer=y FATor forerd |
i)  wea|

i) TR

iii) HQl

iv) g4l

v) TRl

vi) e

Write any four in the given cases -

st ety wfT fora)
H o amR

i) Ayl
iii) e
iv) @
V)  BalH|
vi) T
vil) T

Combine any four :

ST G |
1) amoft + g ;|
i) W+ e |

iii) @ + T

iv) o/ + Tl

[4%x2=8]

[4x2=8]



d)

v) AT+ R

vi) fma: + sm@y
vii) B8R + =il
vii) O + s

Dissolve any three

ERIMIRCPEEICRIERTNIER]
i fgmi

ii)  =hYTo: |

i)  gEt

iv) e

v) Uy

vi)  HeEm:|

[3%2=6]



(DICS 1)

B.A./B.Com./B.Sc. DEGREE EXAMINATION, DEC. - 2015

(Examination at the end of First Year)

Paper - I : INDIAN HERITAGE AND CULTURE

Time : 1% Hours

Maximum Marks : 50

Section - A

Answer any TWO of the following questions

1)  Describe the Indus Civilization?

:{)"631) RS R moeu) [@raod ?

2)  Analyse the greatness of Ashoka?
038 HE5G Y, F°3,55°) IFdos0d?

3)  Describe the Pallava’s art and Architecture?

SoHo TR, 30y Ko K8y Frabod?

4)  Explain the moment of Bhakthi Cult?
8 G8g0H0 1178y Fraod?

5)  Write the social, cultural and social reforms in India.

FREBBE0S D F0E, Fe0w), 4B F0K) BeseRd K8y I$BoB0&?

6) Discuss the Satyagrah movement in freedom struggle?

P88 D08 B500S" B NI LR K8y Frapod ?

Section - B

Write short notes on any THREE of the following guestions

7)  Varna System.
&Y a’)cg@

8)  Chandragupta Mourya.
BoESrHSY B3°Bogekd

(2 x 13 = 26)

(3x4=12)



9)

10)

11)

12)

13)

14)

15)

16)

Astanga Marga.
@ZeoK I8

Sri Krishna Devaraya.

Taj Mahal.
&8 HFS

Raja Ram Mohan Roy.

ove® 0‘5.)‘&;’)"5 o°oL

Gopala Krishna Ghokhale
) S NG

Rama Krishna Matam.
ovméq)‘g} BvbTole)

Section - C

Fill up the blanks :
POV FPBoHIW

a)

b)

d)

Vandematharam poem was written by

30830788 RSBS00 ED0IIB ISB .

Who was the founder of Jain Religion

BIDS FBOHE .

The great singer patronised by Akbar Asthana .

LN eﬁs«éoe’ie:l) (SS5008) Softes PaHEE .

The cause of war decline of Vijaya Nagara dynasty

DesAHING Deo(aieasg SBI0 S°HE°A8 S°8eadP abogo .

Choose the correct answer :

$BADP ST, 1080508 ?

(3x4=12)



a)

b)

The founder of ‘Sathavahana’
1)  Gouthami putra Satakarni
il) Simuka
iii) Pulamavi II

iv) Chandragupta

¢ ST’ ;55;555&)@

) FéW™ H|S 3°$58
i) 3oz
111) B0&éS HOI

iv) Solsroged

In Sindhu culture the houses were built by the people.

1) Rock
i1) Wood
iii) Clay

iv) Furnaced Brick

Do THBES (Sesew B30 adhD DSE® ST,

1) ©Trow
i) seos
iii) 0e3

e

V) 5°9)3 abwd

What was the original name of Shersha

1) Farid
i1) Sherkhan
ii1) Shikdhar

iv) Thodermal

()

()

()



Ao @Ied DB I ?
i) 88

i) 2B

iii) 35°6

iv) 8&bd

d) Who was the defeater by Chandra Gupta Vikramaditya II.
1) Sakas
i1) Greeks
1i1) Hunus
1v) Indopartians
Sosrdg B 11 26D £8035.
1) #Hen
i) |Aen
111)  SJoreden

iv) @0& 58abeen

17) Match the following :

Bo8 TP 238 SBIJOS.

a) Kautilya Adwitha

b) Orugallu Artha Sastra
&.doren ©BF°HI0

c) Sankaracharya Slaverism
B050°3°8g AN V)

d) Khuthubuddin Aibak Kakatiya’s
©208 0 seEdotoen

* * %

()



(DBMAT 11/ DSMAT 11)
B.A./B.Sc. DEGREE EXAMINATION, DEC. - 2015

(Examination at the end of First Year)
Part - I1 : MATHEMATICS
Paper - 1: Differential Equations, Abstract Algebra and Vector Calculus

Time : 3 Hours Maximum Marks : 70

Section - A (8x3=24)

Answer all questions

All questions carry equal marks

1) Solve (1+ x)%—xyzl—x 20 dBosod.
X

2)  Solve X+ yp® =(1+Xy)p & dBosod.

3)  Solve (D*-3D+2)y =0 % 3B030&.

4) Solve (D*-5D+6)y =" % 3Bosod.

5)  Solve 3x+2=0(mod7) & GoIo&.

6)  State and prove Lagrange’s theorem for finite groups.

I8 PIoeFeH Srrod zae:sc;oe:s»:)o1 (35909, DETDoB0E.

7)  Find the angle between the spheres
X2 +y°+22 =29, X’ +y* +7° +4x—6y—82-47 =0 at (4,-3,2).

(4,-3,2) 38 X +y*+2° =29, X’ +y* +2° +4x -6y —82 —47 =0 F*vren PoEoWER P00 Jod?

2

8)  Show that V*(logr) _1 ©8 JrSo&.
r



9 2

b)

10) a)

b)

11) a)

Section - B (4x 11% = 46)

Answer all questions.

All guestions carry equal marks

Solve (2xy +y—tan y)dx + (x* —xtan® y +sec’ y)dy =0 & dBosod.
Solve y? —xyp—x*p? =0 % 3BoBod.

OR

Solve 2xydy — (x* + y> +1)dx =0 & FBos0S.

Solve ax = dy ZE 50 Gosod.

X X+7Z -1

Solve (D°+D? —D-1)y=c0s2X & 8o30&.

Solve (D* —6D +13)y=8e*sin 2x % ABosod.

OR

Solve (D*+a®)y=tanax by the method of variation of parameters.

(D? +a%)y = tan ax % $o°W&e 378 588 oo FFoSod.

Solve % =3X+2y, dy +5X +3y =0. e3%0s 3QsBeTod Gotod.

dt

Let m,n denote any two positive, relatively prime integers, then prove that
¢(mn) = ¢(m).¢(n).
M, O BO T HE, A0 (SR P0Ped BROE D0, Sy, ¢(mn) = d(m).6(n)

@ JrS508.

Prove that union of two subgroups of a group is a subgroup iff one is contained in

other.
2€ D3P S0SE Bothd &5 SSrTee x);-’béém» &3 DITCFHINST &S5 S0ICTEE0 SEBEDN

33538 ST°GS DAHIOB0, 2863 ROE”E oS’ &5 @ IrS0d.



b)

12) a)

OR

If p is a prime number and (a, p) = 1, then prove that a”* =1(mod p)

P BT Sog) 5080k (4, p) = 1 @ond a"* =1(mod p) ed SrSod.

State and prove Cayley’s theorem in groups.

JSdoorreD 5O 2)5;0@:)& 55909, AETED0P0E.

Find the directional derivative of f =x*—y*+2z* at P in the direction of P%) where
P=(1,2,3),Q=(5,0,4).
P=(1,2,3),Q=(50,4) wond P35 PQ 836" f =x*—y* +27° co¥, B Hyhyd0

E508% 0&.

Apply Gauss divergence theorem to evaluate

.U(X +3)dydz + (y + z)dzdx + (x + y)dxdy where ‘s’ is the surface of the sphere
X2 +y*+2° =4.
™R 358 %w{;ow&)& &3a3°Rod _U (X+2)dydz + (y + z)dzdx + (X + y)dxdy Densso

oe2280083.
[-3)

At X+ Y +27 =4 6 4388050 ‘5’ eHB08.

OR

Find the angle between the surfaces Xy’z =3x+2z° and 3x* —y* +2z =1 at (1,-2,1).

(1,-2,2) 3¢ Xy’z =3x+12% 3x* -y +2z =1sere Soghg §¥easin ERAHOB00.

Verify Stoke’s theorem for F=—Yy%i+x’j,where ‘S’ is the circular disc

X +y?<1z=0.

X* +y* <1,7 =0. 358576 §0 ‘S Syes F= —y'i+ X ], 3% 8, AEzos0 38

Soeod.

* * %



(DSPHY 11)

B.Sc. DEGREE EXAMINATION, DEC. - 2015
(Examination at the end of First Year)
Part—1I : PHYSICS

Paper - I : Mechanics, Waves and Oscillations

Time : 3 Hours Maximum Marks : 70

D

2)

3)

4)

5

Section - A (2 x ?% =15)

Answer any two questions

State and prove Gauss Divergence Theorem.

) ?ot:s;oéa»m F°R, ABTPDoI0.

Explain the precessional motion of a symmetric top. Obtain an expression for its precessional

velocity.

e §orBo Ay, HEK B Ko AHBodan. 28 IS 'orbo By, HBIBea IK3005%

JAEEZ0 &3 Bowa.

State Kepler Laws. Derive first law from inverse square law.

§§5 AaHIroR dewsod. 3;35 0¢5¢3 QADATR) ISR $8 Dabdo o0& mwego&.

Describe Michelson-Morley experiment and give its significance.

DEOID-30°8 SAKS0 DSBoB0B. & SATK (DedoggBo a¥god.

Section - B (2 x 7% =15)

Answer any two questions

Define S.H.M. Give three examples. Write equation of Motion for Simple Harmonic Oscillator

and solve it.

ple1>] ZJ"U"ééé DOIIVD ABIOYHIN. & Gaeardeen '&5505. 88 ZJ"U"ééé EossnsH So

FDEBEIR [FPoDH0S 08050 FBoBod.



6) State Fourier theorem. Give Fourier analysis of Square Wave.

298005 DepoBsnH BevDin. BEITEE SLoriHID PBaHE e asod.

7) Describe the Piezo electric method to produce ultrasonics.

R 1)66055 ;’Jg@?\‘) epé’éés‘éoe)é.) &> BoWLRL D¥EEB0BWOB.

8)  Discuss the longitudinal vibrations of a bar fixed at one end and free at the other.

2.8 D38 DRoIE BokS DIB ?‘)5“’5:)”" &Ry éééﬁ @?63@35 BoITPoO 1‘68!')01‘,1)&1).

Section — C (5 x 4=20)

Answer any five questions

9) Explain the Curl of a Vector field give its significance.
83 Q\Lo:’gé) oo (Curl) 2 93809 a8 @vgéé:éo Be0HA.

10) What is meant by Equinoxes? Describe the precession of Equinoxes.

JgoIEe0 XTI ? DF0IE HBRBerD D380 0300.

11)  Write about the classification of beams.

Bodsn (beam) © 388Beaio K80 [FeaSN.

12)  Prove that the Central forces are Conservative.

Zo/8a aere ABEHY WP,

13) Derive the expression for total energy of a Simple Harmonic Oscillator.

DS TS G %300 oY), B0 F5E HATBZW TrBeDo.

14)  State and explain Fourier’s theorem.

$9805 (986D) dapossns> 39D D3BoHIW.

15)  Write a short note on Turning Fork.
38 BowSn 180 o0 TogEys Sotos.

16) Describe the three methods used to detect Ultrasonics.

©dGOR B0 D Sogeed 3PSO DIBoBB.



17)

18)

19)

20)

21)

22)

Section — D (4 x 5=20)

Answer any four questions

A Rocket of mass 20 kg has 180 Kg fuel. The exhaust velocity of the fuel is 1.6 km/sec. Calculate

the minimum rate of Consumption of fuel so that the rocket may rise from the ground.

20 kg o [B850°3 Ko 0°856° 180 kg (535078 Ko @0gS0 &858, a0gS0 wabe® dewsd o 1.6

km/sec. 0°8¢56° 206550 2 Bewd BroswdsS®, 0°8e g $0d P& S,

The kinetic energy of a metal disc rotating at a constant speed of 5 revolutions per second is 100

Joules. Find the angular momentum of the disc.

3y8ms e ) VEDD 5 (Fiddemren SabodyD,td @ K84§ 100 Joules @and O SPBan s

D0 ?

The Jupiters period of revolution is 12 times that of the earth. Then find the average distance of

Jupiter compared to that of the earth.

788 [HPS0 CVVSIRVCTARSERS ORI VEA AV 53 12 Bew Q50,3 ©00d &DeEH :&J‘(S.)éﬁg e &Bor830

REOE- g BP0 53°) JR)) Bew J¥0);H?

Find the velocity with which a body should travel so that its length becomes half of the rest length

2.8 50 JE°0d %éé‘ K o5HS® I8 H0D0w0E") D858 @8 Josd KNS’ [Sasr3oT0d.

A particle executing S.H.M has a maximum displacement ‘A’ and maximum energy ‘E’. Find its

3E

displacement at the instant its kinetic energy is T

3E
ST ToEE Sosin BKgY, Sosn MER AN Fodao A S8 MR ¥ E. eond rdf "

eoo»éa’)o),cﬁ) o° ig:é@ﬁoéo Q0 ?

The amplitude of seconds pendulum has fallen to one third in 100 sec. Find its Q-factor.

VEH0 SToEH oSN S8 100 sec © SOINS® J0rES SoHIEH BAIS. @IS &l Q -rHeasin

20&?



23)

24)

A Stretched string of length 0.25 m has a frequency of 300 Hz in the fundamental node find the

velocity of the transverse wave in the string.

6P 0.25 m Ko S8 KORD BKS® (D08 ;a»m@@,séa» 300 Hz &K&° [Sose30d 86§ $BoKD

IS0 EHORKoS0.

Bats emit ultrasonic waves of shortest wavelength about 0.33 cm. Calculate the highest frequency

it can emit. (Velocity of Sound in air = 330 m/s)
Ki)a)eaﬁoo 580K @@Cﬁsme esééeb dBoK Qgé;m 0.33 cm ®ond ©8 JensBod Ko eoééég

23 @DHBg500 o8 ? (MOS® e s> = 330 mv's).
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B.Sc. DEGREE EXAMINATION, DECEMBER - 2015
(Examination at the end of First Year)

Part II — Electronics

Paper -1 : LINEAR COMPONENTS AND CIRCUIT ANALYSIS

Time : 3 Hours Maximum Marks : 70

D

2)

3)

4)

5

6)

b)

Answer any five questions

All guestions carry equal marks

Explain with examples the colour coding system used to indicate the value of a given

resistor.

Define ohm’s law and explain its limitations.

Derive an expression for the energy stored in an inductor.

Distinguish between self induction and mutual induction. Give the theory and applications of

transformer.

Write briefly about V-I relationship in a capacitor.

What are various kinds of capacitors used in electronic circuits? Explain their applications in

electronic circuits.

State and explain Kirchoff’s lows for D.C circuits.

Explain loop current method for analyzing an electrical network. Obtain loop equations in a

network containing n-meshes and if these is a source of emf in each mesh.

State and prove Norton’s theorem & Mill man’s theorem.

Discuss the transient response of RC and RL circuits. Explain ringing in RLC circuit.



7)

8

9)

10)

What do you mean by low pass and high pass filters? Derive an expression for cut-off frequencies

for low and high pass filters and give their uses.

Define the term resonance. Obtain an expression for the resonant frequency and Q-factor for a

parallel resonant circuit.

a) What is a two — port network.

b) Define and obtain expression for the h-parameters.

c) Derive the expression for the T-network in terms of — I'l network.

Draw the circuit diagram of A.C Anderson Bridge. Explain how the self-inductance of a coil can

be determined with it. Derive the formula for self-inductance.

&%





